[This
questi
10n paper contains 4 printed
ed pages.]
Roll No.130.5.83300?

Sr. NO
- of Question Paper : 190
N - 1 C
nique Paper Code 2
1 23420
Name ourse 1
of the C
urs :
- : B.Sc. (Hons.)
N .) Computer Science
¢ o e Paper -
: Dat
- a Structure (CSHT-203)
Duratj .
10n
: 3 Hours M
aximum Marks :
s 73

© L
» nst
——=2lructions |
ctions for Candidat
ates

1
- Writ
e
your Roll N
0. on the top i i
p immediately onre I
ceipt of this questio
n paper.

2
’ Qlles ]
% N tion 1 is compulsory
ter A
4 P‘l mpt any four unStiOHS out fth
arts of 1t of the remainir
S g Q2-Q7.
question must be answered tooether
=) .
I
- (a)
Def‘l
ne a class e
Write 2 me ; to repiesent node of & doubly circular linked list
. e o . 1 ced list.
list. inction to display the content of doubly circular linked
(b)
N Consider th fi ¥
| 8 7 s e following postfix expression :
Tl’teabohl6 2 54+ 77
.‘1’ ve ex . .
aft pressio - :
\S%/ ter cach step. n is evaluated using stack. Show the content of stack
Dra ()
W bina
the ry trees with ;
al;' ( SeTidnced B, O 3 nodes which when traversed in post-order gives
J d) 2 H .
| Consider | 7
following list S f
of alphabetic characters : "
B ) ¥
R H M Q S UV
perations on the above Jist. Which
ogested

An
appIiCa .
t .
ion requires to perform gearch 0
y? Apply the technique SUs

Ofﬂ
1€ se
arch :
Y you o s technique is appropriate and Wh
Co search
Mparisopg . an element U ol the list S and count t
performed in searching U
g U.
IO

he number of

)



01

2
\Jf!( Consider following list of 9 numb

Crs :

66, 33, 44, 22, 55, 88, 11, 77, 99
Suppose the list is to be sorted.

ind final
Use the quicksort algorithm to find 5)
position of first number 66 in the sorted list.

The Binomial Coefficie

) ollowing
ntis defined recursively according to the fol
definition

Clnk) =1ifk= or k=p

C(n,k) = C(n__

L. k-1) + C(n—l, k)
otherwise Find the value of

(5)
' (5)
(2) Write a functiop to delete an element X from ap ordered linked list
2.\&)/

8 definition of singly linked 1jst
class SLY jgt
{
NOde Start: HDO\HT.S to ﬁl‘st node _
Public-
SLList()
{ star = 03}
1d Change()
Member f .
NCtion ist
ang ®0) re - b
the ::?131 A Ofthenm;)tv " st Clement of the singly hnke\?vrit
e i ; ; ;
haye dat - Unctjq ch e “nging Y value of info- arld
Addregq i info ta[.lgeo‘ SSume class Node is defined 4
OnS ring Value of the noge and next 10 5105)
( at are Sl orgn... e % initialize theses members. (
Show the 1. 2ing |
et ; +h P using (-gwen “Quence BCADADA 0s°
5 5 D Move g g, (ii) TransP
a) Consider ' (
is a3 OHOWIH
T OMlar gue, M Queye kg g
. "oize RONy ;" haracy [
Tig

Crs, Where queue QUL@uc
MREAR 5 o4, And ¥

4

1901

5
0 1 2 3 3

(T T[T

i tions
following opera
. : f QUEUE, FRONT and REAR as the
Show the status o SUE.
i low :
take place in the sequence given belo

(i) Elements P, Y are added.
X d.
(i) Elements C, N. B are adde

(iii) Two elements are deleted.

4)
(iv) Three elements are deleted. r underflow ? %at
i1l cause overflow 0 ¢ 7 Write
(b) In the part 3(a), which operation(s) W1

: - r queu
- in a circula YV
occur In &= o print
1S ition for overflow and underflow to flow conditions and 0 p
tl ondition for o for overflow and under
1€ functions to test fo

©
. . ircular queuc.
APPropriate message 1n a cire
q. ‘ve function :
: . ve fun
=" -Onsider the following recursi
ll[]signed iﬂl Flb (unsigned int n){
ifiin <2)
return n;
. ;)
else ib(n-1));
returl1 (Fib(n-—'z) + F . 5 8,13 ............
uence 0,1,1,2:» cci sequence:
_ : * rrihond
Thig function'produces Fibonact! Seq- (h number of Fibon pute Fib(3)
ute SIX .med to com
1uncti0n Fib(5) is called to comp 11 pe performe (5)
10w 1y ) ive calls and additions v dpby Fib(5)-
any recursive ¢ -ate
ra :
. t nut
o 4 digl
hat iS hashing 2 Consider the fol]OWlng thod (5)
' 25 e metho=
6514, 4331, 18 ., Mid Square
2 ; In
i the 5 h address of each key using fal nUmb;?ar
1€ 2-digit hash addr ill !
_ hat W ing for™=""
e. appE ne
(a) C . x of n * 1 le- Give the mq;_F‘:— in @0
Onside, 4 Upper triangular matrix [ar matri®: Jia matl (6)
of . : or triangule janguie
1\1 on zep entries in this upper tri Dof upper !
o7 Storing ang retrieving elements
dime

NSiong| array.



1901 4
(b) Consider the following Sparse Matrix :
00000502

830003000 /
09000040 2
/(@)
06100000 )
Show how the elements will be stored in one dimensional array in row major
order and column major order. (4)
6. Mite a function to implement iterative preorder traversal on a Binary search 2
tree. (5) b
b - : -
() Create a Binary Search Tree using following data - . :




